10m

5m

2.5m

1m

I—ELEV C—I

SCALE: 1:100

d Ad14

Il

d AJ14

I—ELEV A—I

LOCATION PLAN

CL

— v

il

Indicative line of existing
boundary wall with No.89
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Proposed new dormer;

Front and Side walls to be tiled to match roof

existing (incl. frame size; depth and profile)

New double glazed timber painted windows to match.

tiles, similar to surrounding dormer windows

Metal balustrade to be repaired/replaced if required
High level fixed glass and structural glazed roof

Dark metal clad framework to new
glazed rear + side extension.
Line of existing brick shed

Existing boundary wall to

be reinstated and repaired

Proposed side extension wall in brickwork to match existing
height to provide additional screening

existing timber trellis to be increased in

TREE HEIGHT
INDICATIVE

t Proposed new side door

Proposed Side Elevation B
Scale: TOO@A3

with glazed panel
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